Episode 33: Alternating series test

Any two consecutive term have opposite sign:
$$A_{1}^{*} a_{1} a_{1} < 0$$

for any $h = l_{1}^{*} 2 \beta_{2} \dots$
 $1 - \frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \dots = \sum_{h=1}^{\infty} (-1)^{h+1} \frac{1}{h}$
Any alt. Series can A writte as
 $\sum_{h=1}^{\infty} (-1)^{h+1} a_{h} = a_{1} - a_{2} + a_{3} - \dots$
 $m = \sum_{h=1}^{\infty} (-1)^{h+1} a_{h} = -a_{1} + a_{2} - a_{3} + \dots$
 $\frac{Alternechy series test}{\sum_{h=1}^{\infty} (-1)^{h+1} a_{h}}$
 $\frac{Alternechy series test}{\sum_{i=1}^{\infty} (-1)^{h+1} a_{h}}$
 $2) a_{h+1} < a_{h}$ decreasing $\implies \sum_{i=1}^{\infty} (-1)^{h+1} a_{h}$
 $\frac{1}{2} a_{h} \xrightarrow{1} 0$
 $\frac{1}{2}$

1)
$$a_{h} = \frac{1}{h} > 0$$

2) $a_{h+1} = \frac{1}{h+1} < \frac{1}{h} = a_{h} (decr.) = \sum_{h=1}^{\infty} (-1)^{h+1} \frac{1}{h} = \frac{conv.}{h = 1}$
3) $a_{h} = \frac{1}{h} = 0$
 $a_{h} = \frac{1}{h} = 0$
 $a_{h} = \frac{1}{h} = 0$
 $a_{h} = \frac{1}{h} = 0$

$$(1 - \frac{1}{2} + \frac{1}{3} - \frac{1}{7} + \dots = \frac{1}{2} - \frac{1}{$$

